QUIZ 1: Physics 2 (Waves)

I- Chose the right answer:

1- The amplitude of a wave is ______.

	
	a. the distance the wave moves in one second

	
	b. the distance the wave moves in one time period of the wave

	
	c. the maximum distance moved by the medium particles on either side of the mean position

	
	d. the distance equal to one wave length


2-The physical quantity, which oscillates in most waves, is

	
	a. mass

	
	b. energy

	
	c. amplitude

	
	d. wavelength


3- The time period of a vibrating body is 0.05 s. The frequency of waves it emits is

	
	a. 5 Hz

	
	b. 20 Hz

	
	c. 200 Hz

	
	d. 2 Hz

	4-  : A sound source sends waves of 400 Hz. It produces waves of wavelength 2.5 m. The velocity of sound waves is
a. 100 m/s
b. 1000 m/s
c. 10000 m/s
d. 3000 km/s
5- Sound waves do not travel through
a. solids
b. liquids
c. gases
d. vacuum


	
	

	
	

	
	

	
	

	6-  The higher the frequency of a wave

	
	a. the smaller its speed.

	
	b. the shorter its wavelength.

	
	c. the greater its amplitude.

	
	d. the longer its period.

	 [image: image1.png]




7- The speed of waves in a stretched string depends upon which one of the following?
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	a. The tension in the string
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	b. The amplitude of the waves
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	c. The wavelength of the waves
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	d. The gravitational field strength


8 - : When a wave travels through a medium ______.

	a. 
	particles are transferred from one place to another

	b.
	energy is transferred in a periodic manner

	c.
	energy is transferred at a constant speed

	d.
	none of the above statements is applicable


9- The relation between wave velocity 'v', frequency 'f ', and wavelength "ʎ' is ______.

	a. V= ʎ/f
b. V= ʎf

c. V= f/ʎ

d. V= 1/f ʎ
	

	
	

	
	

	
	


10- The frequency of a wave travelling at a speed of 500 ms-1 is 25 Hz. Its time period will be ______. [image: image6.jpg]



	a. 
	a. 20 s

	b. 
	b. 0.05 s

	c.
	c. 25 s

	d.
	d. 0.04 s


 11- A 300-g mass at the end of an ideal spring vibrates up and down in such a way that it is 2.0 cm above the tabletop at its lowest point and 16 cm above at its highest point. Its period is 4.0 s. Determine (a) the amplitude of vibration, (b) the spring constant, (c) the speed and acceleration of the mass when it is 9 cm above the table top, (d) the speed and acceleration of the mass when it is 12 cm above the table-top.

	a. (a) 8.0 cm (b) 0.24 N/m (c) 0.14 m/s; zero (d) 0.099 m/s, 2.47 m/s2

	b. (a) 9.0 cm (b) 2.96 N/m (c) -0.22 m/s; zero (d) 0.15 m/s, 1.2 m/s2

	c. (a) 7.0 cm (b) 0.74 N/m (c) 0.11 m/s; zero (d) 0.099 m/s, 0.074 m/s2

	d. (a) 14.0 cm (b) 740 N/m (c) 0.121 m/s; zero (d) 0.07 m/s, 0.074 m/s2
12- The frequency which is not audible to the human ear is
a. 50 Hz
b. 500 Hz
c. 5000 Hz
d. 50000 Hz

13- Which of the following will remain unchanged when a sound wave travels in air or in water?
a. Amplitude
b. Wavelength
c. Frequency
d. Speed


14- Sound and light waves both
a. have similar wavelength
b. obey the laws of reflection
c. travel as longitudinal waves
d. travel through vacuum


15- Which of the following quantities is transferred during wave propagation?
a. Speed
b. Mass
c. Matter
d. Energy

16- The distance between a compression and the next rarefaction of a longitudinal wave is __________.







2cm







II- Put (√) OR (x) and give reason:
1- The period of a simple pendulum depends on the mass of the pendulum bob.
2- The length of a simple pendulum is quadrupled, its period will change by a factor 2.

3- Simple harmonic motion is a projection of circular motion.
